
USING TRIGONOMETRIC IDENTITIES 

The following are identities that you should know: 

𝒔𝒊𝒏(𝑨 ± 𝑩) =  

𝒄𝒐𝒔(𝑨 ± 𝑩) =  

𝒕𝒂𝒏(𝑨 ± 𝑩) = 

 

 

𝒔𝒊𝒏 𝟐𝑨 =  

𝒄𝒐𝒔 𝟐𝑨 =  

𝒄𝒐𝒔 𝟐𝑨 =  

𝒄𝒐𝒔 𝟐𝑨 =  

𝒕𝒂𝒏 𝟐𝑨 = 

 

 

𝒔𝒆𝒄𝟐𝑨 =  

𝒄𝒐𝒔𝒆𝒄𝟐𝑨 =  

 

We can use these identities to transform an expression that cannot be integrated into one that can be 

integrated. 

 

These first examples focus on manipulation of the identities rather than integration. 

Examples  

1) 𝑠𝑖𝑛 4𝑥 = 

 

2) 2 𝑠𝑖𝑛 3𝑥 cos 3𝑥 = 

 

3) 𝑐𝑜𝑠 5𝑥 = 
 

4) 4 𝑐𝑜𝑠23𝑥 − 2 = 
 



 

 



Further examples  

Show that 

∫ 𝒔𝒊𝒏𝟐𝒙

𝝅
𝟖

𝝅
𝟏𝟐

𝒅𝒙 =
𝝅

𝟒𝟖
+

𝟏 − √𝟐

𝟖
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Exercise 11C Page 

300 


